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Extra Practice: Prime or Composite? 1-100

Prime Number - a number that only has two factors, 1 and itself.
example: 7 is a prime number because it’s only factors are 1 and 7.

Composite Number - a number that has more than two factors.
example: 12 is a composite number because it has more than two factors.
It's factors are 1, 2, 3, 4, 6, and 12.

21

Draw all the possible arrays for 21. Label the dimensions.

(use grid paper —)

List all the factors of 21.

(1, 2v)
(3,7)

Select the correct words to complete the sentence:

The number 21 is ‘\’ because it has phove ¥aan two factors.
(prime / ©omposite (only /@




e ST




31

Draw all the possible arrays for 31. Label the dimensions.

(use grid paper —)

List all the factors of 31.

(\,%D

Select the correct words to complete the sentence:

The number 31is XY ITNL becauseithas  OQ\\W two factors.

((prime)/ composite) mdre than)
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25

Draw all the possible arrays for 25. Label the dimensions.

(use grid paper —)

List all the factors of 25.

(1, 25)
(5,5)

Select the correct words to complete the sentence:

The number 25 is CDMPOS\\'Q because it has Y\YO(¢ +han two factors.
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48

Draw all the possible arrays for 48. Label the dimensions.

(use grid paper —)

List all the factors of 48.

<|, "}8) (4112’3
(2, 24) (b, )
(3, 1w)

Select the correct words to complete the sentence:

The number 48 is C}JMPOSH'G because it has [Y\0(¢ H\an two factors.

(prime /ccomposite)y (only @
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49

Draw all the possible arrays for 49. Label the dimensions.

(use grid paper —)

List all the factors of 49.
(1, 44)
(7,7)

Select the correct words to complete the sentence:

The number 49 is C,OH\?OSH’Q because it has pPAOVE +haun  two factors.

(prime /@ (only /@
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95

95 is a COMPOSITE number because it has more than two factors. How could you figure out that 95
is a composite number without finding all of its factors? Explain your thinking below.

T kaow thar all numbexs that end in 5 or O
Oxe  nnultiples of 5. So, 5 Hmes Some%ir\ﬂ must

equal 45, That means +hat 1,95, 5, and Somédhi

nwsk be Fackors of 05, Sinex T Know ot 95
hos movre +han +wo factors, T know it 1S Composil

Extend Your Thinking:

Are all even numbers composite? Why or why not? Use an example to explain your thinking.
Yes, ol even numbers Ore Composite becavse 2 is
o. fockor of all even numbers.
Evoarnple: o js compesite becowse it'e Factors Ore
(1,10) end (& ). It has more than 4uso fotiors
Are all odd numbers prime? Why or why not? Use an example to explain your thinking. %0 \\ S CO‘V\P@
No, not all odd nombers ave prime. 2 is not @ foctor
b any 0dd homber, but it m\%k* have other Fadws

besides 1 ond itself.

E)(&mPle q 1S Odd but H"S elSo C,Dmpogi-(-e bQCO«OSQ H_;
factors ave (1,9) and (3,3) . Move +han +wo factors

w2 ning Handt e A anonsibe.



